
WARNING

XL-MP1023-02

Holland reserves the right, without prior notice, to change specifications and dimensions.

Mounting must be carried out in 
accordance with the instructions below.
In Germany TÜV guidelines and the 
§§ 19, 20 and 21 of the StVZO must 
be followed for the installation of the 
Weightsaver® and the mounted 
Fifth Wheel.

Minimum Sub-frame Attachment requirements (per side):
 5 screws M16 x 1,5 (min. Quality 8.8)
 4 screws M16 x 1,5 (min. Quality 10.9)
 4 screws M20 x 1,5 (min. Quality 8.8)

General Instructions:

The bolted joints must be properly torqued as shown below
and checked for a secure installation.

The fifth wheel must be mounted in such a way that the top 
plate is freely movable above the brackets.

The Weightsaver® base plate can be secured against 
longitudinal and lateral movements through the use of 
welded thrust plates. This may be a requirement of the 
tractor manufacturer or a government regulation.

EC approved 94/20/EG

Welding procedure: E II
Filler Material: E 4320 B9 DIN 1913
alternatively
Welding procedure: MAG C
TÜV approved filler material

Note: Bracket mounting on chassis area

M20 x 1,5 - 8.8
tightened to 460 Nm

M16 x 1,5 - 8.8
tightened to 225 Nm

M16 x 1,5 - 10.9
tightened to 315Nm

965 or 1050 mm

WEIGHTSAVER®R®RR®R

Weightsaver®

MOUNTINGMOUNTING
GUIDELINESGUIDELINES

min 20mm

HOLLANDA

m
in

 2
0 

m
m

WARNING

In addition to these recommendations, 
all fifth wheel mounting plate installations
must be made in accordance with all 
applicable government regulations where
the vehicle is registered and/or operated.



Copyright     June 2004   The Holland Group Inc.

Holland Europe GmbH
Altenkamp 9
D-33758
Schloss Holte-Stukenbrock
Germany
Phone: +49 (0) 5207-89560
Fax:     +49 (0) 5207-895656

Holland Eurohitch Ltd. 
Hoo Farm Industrial Estate
Worcester Road
Kidderminster
Worcestershire
DY11 7RA
Phone: +44 (0) 1562-732010
Fax:     +44 (0) 1562-732020

Holland Transtrade 
Far East SDN BHD
Shah Alam, Malaysia
Phone: 60 (0)3 734-2888
Fax:     60 (0)3 736-5588

The Holland Group, Inc. 
Holland, MI 49423
United States
Phone:  (616) 396-6501
Fax:      (616) 396-1511

Holland Transtrade 
(Thailand) Company, Ltd.
Bangkok, Thailand
Phone: 66 (0)2-513-8758
Fax:     66 (0)2-513-8757

Nippon Holland, Ltd.

Tokyo, Japan
Phone: 81-(0)3-3461-9130
Fax:     81-(0)3-3463-1407

Holland Hitch (Aust.) Pty. Ltd.

Melton, Victoria, Australia
Phone:   61-(0)3-9743-6799
Fax:       61-(0)3-9747-9617

  EN ISO
9001:2000

Certified
Company



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


